Bezirk I Niederbayern

Sommer 2019 - Zielwettbewerb

BayerischerEissport - Verband

Sparte Stocksport

ui4 U16 U19 U23
26 Teilnehmer => Teiler: 0,3209 26 Teilnehmer => Teiler: 0,4905 26 Teilnehmer Teiler: 0,7027 15 Teilnehmer Teiler: 0,5172
Mannschaften Mannschaften Mannschaften Mannschaften
Kreis 100 1 x 05200 = 0,5200 ==> 1 1 x 05531 = 10,5531 ==> 1] 2 x 0,7027 = 1,4054 ==> 1] 1 x 0,5357 0,5357 ==> 1
Kreis 101 2 x 05200 = 1,0400 ==> 1 2 x 05531 = 1,1062 ==> 1] 4 x 0,7027 = 2,8108 ==> 3| 4 x 0,5357 2,1428 ==> 2
Kreis 102 3 x 05200 = 1,5600 ==> 1 2 x 05531 = 1,1062 ==> 1] 1 x 0,7027 = 0,7027 ==> 1] 1 x 0,5357 0,5357 ==> 1
Kreis 103 2 x 05200 = 1,0400 ==> 1 1 x 05531 = 0,531 ==> 1| 1 x 0,7027 = 0,7027 ==> 1| 1 x 0,5357 0,5357 ==> 1
Kreis 104 1 x 05200 = 0,5200 ==> 1 4 x 05531 = 22124 ==> 2| 1 x 0,7027 = 0,7027 ==> 1] 1 x 0,5357 0,5357 ==> 1
Kreis 105 7 x 05200 = 3,6400 ==> 3| 11 x 05531 = 6,0841 ==> 6] 9 x 0,7027 = 6,3243 ==> 6| 4 x 0,5357 2,1428 ==> 2
Kreis 106 11 x 05200 = 57200 ==> 6 5 x 05531 = 2,7655 ==> 3| 2 x 0,7027 = 1,4054 ==> 1| 5 x 0,5357 2,6785 ==> 2
Kreis 107 13 x 05200 = 6,7600 ==> 7 8 x 05531 = 4,4248 ==> 4] 6 x 0,7027 = 42162 ==> 4] 3 x 0,5357 1,6071 ==> 1
Kreis 108 10 x 05200 = 5,2000 ==> 5] 13 x 05531 = 7,903 ==> 7|11 x 0,7027 = 7,7297 ==> 8| 8 x 0,5357 42856 ==> 4
Gesamt 50 26| 47 26| 37 26| 28 15
Sommer 2019 - Mannschaftswettbewerb
ui4 u16 u19 U223
18 Teilnehmer => Teiler: 0,7826 22 Teilnehme:> Teiler: 0,8800 22 Teilnehme:eiler: 1,1578 13 Teilnehmer Teiler: 0,6500
Mannschaften Mannschaften Mannschaften Mannschaften
Kreis 100 3 x 0,7826 = 2,3478 ==> 2 1 x 0,8800 = 10,8800 ==> 1| 1 x 1,1578 = 1,1578 ==> 1| 1 x 0,6500 0,6500 ==> 1
Kreis 101 1 x 0,7826 = 0,7826 ==> 1 1 x 0,8800 = 10,8800 ==> 1] 2 x 1,1578 = 2,3156 ==> 2| 2 x 0,6500 1,3000 ==> 1
Kreis 102 2 x 0,7826 = 15652 ==> 2 2 x 0,8800 = 1,7600 ==> 2| 1 x 1,1578 = 1,1578 ==> 2| 2 x 0,6500 1,3000 ==> 1
Kreis 103 2 x 0,7826 = 15652 ==> 2 3 x 0,8800 = 2,6400 ==> 3| 2 x 1,1578 = 2,3156 ==> 2| 1 x 0,6500 0,6500 ==> 1
Kreis 104 1 x 0,7826 = 07826 ==> 1 1 x 0,8800 = 10,8800 ==> 1| 1 x 1,1578 = 1,1578 ==> 1| 1 x 0,6500 0,6500 ==> 1
Kreis 105 4 x 0,7826 = 3,1304 ==> 3 5 x 0,8800 = 4,4000 ==> 4| 4 x 1,1578 = 46312 ==> 5] 5 x 0,6500 3,2500 ==> 3
Kreis 106 5 x 0,7826 = 39130 ==> 4 4 x 0,8800 = 35200 ==> 3| 2 x 1,1578 = 2,3156 ==> 2| 3 x 0,6500 1,9500 ==> 2
Kreis 107 2 x 0,7826 = 15652 ==> 1 3 x 0,8800 = 2,6400 ==> 3| 1 x 1,1578 = 1,1578 ==> 1] 2 x 0,6500 1,3000 ==> 1
Kreis 108 3 x 0,7826 = 2,3478 ==> 2 5 x 0,8800 = 4,4000 ==> 4| 5 x 1,1578 = 57890 ==> 6| 3 x 0,6500 1,9500 ==> 2
Gesamt 23 18] 25 22] 19 22] 20 13
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